111035 BOUNDARY

Point# 1 10000.000 10000.000
S 75 45 42 W 1.000
Point # 2 9999.754 9999.031
) 14 14 18 E 28.640
Point # 3 9971.994 10006.075
S 75 45 42 W 44.000
Radius Point # 4 9961.172 9963.427
Delta=89 36 10 Length = 68.810 Tangent = 43.696
S 14 38 8 E 44.000
Point# 5 9918.599 9974.544
S 14 38 8 E 711.000
Radius Point # 6 9230.670 10154.192
Delta=16 47 37 Length = 208.397 Tangent =104.951
N 31 25 45 W 711.000
Point # 7 9837.356 9783.446
N 31 25 45 W 44.000
Radius Point # 8 9874.900 9760.502
Delta=34 1 54 Length = 26.134 Tangent = 13.465
S 2 36 9 W 44.000
Point #9 9830.945 9758.504
N 2 36 8 E 44.000
Radius Point # 10 9874.900 9760.502
Delta=75 32 15 Length = 58.009 Tangent = 34.091
) 78 g8 23 w 44.000
Point # 11 9865.857 9717.441
N 11 51 37 W 68.100
Point # 12 9932.503 9703.445
N 78 8 23 E 49.000
Radius Point # 13 9942.574 9751.399
Delta=72 45 12 Length = 62.219 Tangent = 36.095
N 29 6 25 W 49,000
Point # 14 9985.386 9727.563
N 60 53 35 E 16.630
Point # 15 9993.475 9742.093

DEC 1 4 2020



S 29 6 25 E 149.000
Radius Point # 16 9863.292 9814.573
Delta=17 27 44 Length = 45.411 Tangent = 22.883
N 11 38 41 W 149.000
Point # 17 10009.225 9784.498
N 78 21 20 E 19.300
Point # 18 10013.121 9803.401
N 11 38 40 W 201.000
Radius Point # 19 10209.984 9762.832
Delta=8 45 14 Length = 30.710 Tangent = 15.385
S 20 23 54 E 201.000
Point # 20 10021.588 5832.889
N 69 36 6 E 58.430
Point # 21 10041.954 9887.655
N 20 23 54 W 150.000
Radius Point # 22 10182.548 9835.373
Delta=14 26 18 Length = 37.799 Tangent = 19.000
S 34 50 12 E 150.000
Point # 23 10059.430 9921.059
N 55 9 48 E 13.130
Point # 24 10066.930 9931.836
S 35 59 16 E 9.000
Radius Point # 25 10059.648 9937.125
Delta=52 43 40 Length = 8.282 Tangent = 4.461
N 16 44 24 E 9.000
Point # 26 10068.267 9939.717
S 16 44 24 W 9.000
Radius Point # 27 10059.648 9937.125
Delta =69 38 49 Length = 10.940 Tangent = 6.261
N 8 23 13 E 9.000
Point # 28 10060.215 9946.107
N 8 23 13 E 50.000
Radius Point # 29 10063.366 9996.007

Delta=73 40 40

Length = 64.296

Tangent = 37.458

S 12 42 33 W 50.000
Point # 30 10014.591 9985.007
S 12 42 32 W 20.000
Radius Point # 31 9995.081 9980.607



Delta=63 3 9 Length = 22.009 Tangent = 12.269
N 75 45 41 E 20.000

Point # 32 10000.000 9999.993

AREA = 42,874.82 sf (.9843 acres)

LENGTH = 205.23

NORTHING ERROR = +0.000 EASTING ERROR =-0.007
LINEAR ERROR=N 86 16 59 W 0.007



1110351071

Point#1 10000.000 10000.000
N 23 30 38 44.000

Point # 2 10040.347 10017.552
S 66 29 22 15.780

Point # 3 10034.052 10032.022
S 23 30 38 44.000

Point# 4 9993.705 10014.470
N 66 29 22 15.780

Point # 5 10000.000 10000.000

AREA = 694.32 sf (.0159 acres)

LENGTH = 119.56

NORTHING ERROR = +0.000

LINEARERROR=N 0 0 O W 0.000

EASTING ERROR = +0.000

JAN 2 9 2021



111035 LOT 2

Point# 1 10000.000 10000.000
N 23 30 38 44.000

Point # 2 10040.347 10017.552
S 66 29 22 15.900

Point # 3 10034.005 10032.132
S 23 30 38 44,000

Point # 4 9993.657 10014.580
N 66 29 22 15.900

Point#5 10000.000 10000.000

AREA = 699.60 sf (.0161 acres)

LENGTH = 119.80

NORTHING ERROR = +0.000

LINEARERROR=N 0 0 0 W 0.000

EASTING ERROR = +0.000

JAN 2 9 2021



111035 LOT 3

Point # 1 10000.000 10000.000
N 23 30 38 44.000

Point # 2 10040.347 10017.552
S 66 29 22 15.780

Point# 3 10034.052 10032.022
S 23 30 38 44.000

Point # 4 9993.705 10014.470
N 66 29 22 15.780

Point # 5 10000.000 10000.000

AREA = 694.32 sf (.0159 acres)

LENGTH = 119.56

NORTHING ERROR = +0.000

LINEAR ERROR=N 0 0 0 W 0.000

EASTING ERROR = +0.000

JAN 2 9 2021



111035 LOT 4

Point# 1 10000.000 10000.000
N 23 18 55 44.000

Point # 2 10040.407 9982.585
N 66 41 5 15.780

Point # 3 10046.653 9997.077
S 23 18 55 44.000

Point # 4 10006.246 10014.491
S 66 41 5 15.780

Point # 5 10000.000 10000.000

AREA = 694.32 sf (.0159 acres)

LENGTH = 119.56

NORTHING ERROR = +0.000

LINEAR ERROR=S 0 0 0 W 0.000

EASTING ERROR = +0.000

2N 2 9 2021



111035 LOT5

Point# 1 10000.000 10000.000
N 23 18 55 44.000

Point # 2 10040.407 9982.585
N 66 41 5 15.900

Point # 3 10046.700 9997.187
S 23 18 55 44.000

Point # 4 10006.293 10014.602
S 66 41 5 15.900

Point # 5 10000.000 10000.000

AREA = 699.60 sf (.0161 acres)

LENGTH = 119.80

NORTHING ERROR = +0.000

LINEAR ERROR=S 0 0 0 W 0.000

EASTING ERROR = +0.000

JAN 2 9 2021



111035 LOT 6

Point# 1 10000.000 10000.000
N 23 18 55 44.000

Point # 2 10040.407 9982.585
N 66 41 5 15.780

Point # 3 10046.653 9997.077
S 23 18 55 44.000

Point # 4 10006.246 10014.491
S 66 41 5 15.780

Point#5 10000.000 10000.000

AREA = 694.32 sf (.0159 acres)

LENGTH = 119.56

NORTHING ERROR = +0.000

LINEARERROR=5 00 0 W 0.000

EASTING ERROR = +0.000

JAN 2 9 2021



111035 LOT 7

Point#1 10000.000 10000.000
N 22 19 14 44.000

Point # 2 10040.703 9983.289
N 67 40 46 15.780

Point # 3 10046.696 9997.887
S 22 19 14 44.000

Point # 4 10005.993 10014.598
) 67 40 46 15.780

Point #5 10000.000 10000.000

AREA = 694.32 sf (.0159 acres)

LENGTH = 119.56

NORTHING ERROR = +0.000

LINEAR ERROR=S 0 0 0 W 0.000

EASTING ERROR = +0.000

JAN 29 200



111035L0OT 8

Point # 1 10000.000 10000.000
N 22 19 14 44.000

Point # 2 10040.703 9983.289
N 67 40 46 15.780

Point # 3 10046.696 9997.887
S 22 19 14 44.000

Point # 4 10005.993 10014.598
S 67 40 46 15.780

Point #5 10000.000 10000.000

AREA = 694.32 sf (.0159 acres)

LENGTH = 119.56

NORTHING ERROR = +0.000

LINEAR ERROR=S 0 0 0 W 0.000

EASTING ERROR = +0.000

JAN 2 9 2071



111035 LOT 9

Point # 1 10000.000 10000.000
N 32 32 35 44.000

Point # 2 10037.091 9976.331
N 57 27 25 15.780

Point# 3 10045.580 9989.633
S 32 32 35 44.000

Point # 4 10008.489 10013.302
S 57 27 25 15.780

Point#5 10000.000 10000.000

AREA = 694.32 sf (.0159 acres)

LENGTH = 119.56

NORTHING ERROR = +0.000

LINEAR ERROR=S 0 0 0 wW 0.000

EASTING ERROR = +0.000

JAN 2 9 2021



111035 LOT 10

Point # 1 10000.000 10000.000
N 32 32 35 44,000

Point # 2 10037.091 9976.331
N 57 27 25 15.780

Point # 3 10045.580 9989.633
S 32 32 35 44.000

Point # 4 10008.489 10013.302
S 57 27 25 15.780

Point # 5 10000.000 10000.000

AREA = 694.32 sf (.0159 acres)

LENGTH = 119.56

NORTHING ERROR = +0.000

LINEAR ERROR=S 0 0 0 W 0.000

EASTING ERROR = +0.000

JAN 2 9 2021



111035L0T 11

Point# 1 10000.000 10000.000
S 57 27 26 W 68.350

Point # 2 9963.233 9942.382
N 32 32 34 W 17.000

Point # 3 9977.563 9933.237
N 57 27 26 E 74.390

Point # 4 10017.580 9995.947
S 14 14 18 E 12.160

Point # 5 10005.793 9998.938
S 75 45 42 W 44.000

Radius Point # 6 9994.971 9956.289
Delta=7 40 8 Length = 5.889 Tangent = 2.949

N 83 25 50 E 44.000

Point# 7 10000.005 10000.000

AREA = 1,216.08 sf (.0279 acres)

LENGTH = 171.90

NORTHING ERROR = +0.005
LINEAR ERROR=N 4 28 9 E 0.005

EASTING ERROR = +0.000

FEB 0 5 2001
FEB 0-5 »n.



111035 L0T 12

Point# 1 10000.000 10000.000
S 57 27 26 W 78.390
Point # 2 9957.832 9933.918
N 32 32 34 W 17.000
Point # 3 9972.163 9924.773
N 57 27 26 E 84.990
Point# 4 10017.881 9996.419
S 70 47 16 W 20.000
Radius Point # 5 10011.300 9977.533
Delta=4 58 26 Length = 1.736 Tangent = 0.869
N 75 45 42 E 20.000
Point # 6 10016.219 9996.918
S 75 45 42 W 1.000
Point # 7 10015.973 5995.949
S 14 14 18 E 16.480
Point # 8 9999.999 10000.003

AREA = 1,382.02 sf (.0317 acres)

LENGTH = 197.86

NORTHING ERROR =-0.001 EASTING ERROR = +0.003
LINEAR ERROR =S 72 34 48 E 0.003

FER 0 5 2071



111035 LOT 13

Point # 1 10000.000 10000.000
S 57 27 26 W 80.990

Point # 2 9956.433 9931.726
N 32 32 34 W 17.000

Point # 3 9970.764 9922.581
N 57 27 26 E 77.230

Point# 4 10012.308 9987.686
S 19 10 57 W 20.000

Radius Point # 5 9993.419 9981.114
Delta=51 36 19 Length = 18.014 Tangent = 9.670

N 70 47 16 E 20.000

Point # 6 10000.000 10000.000

AREA =1,368.26 sf (.0314 acres)

LENGTH = 175.22

NORTHING ERROR = +0.000 EASTING ERROR = +0.000
LINEAR ERROR=N 70 17 6 E 0.000

FEB 0 5 2021



111035 LOT 14

Point # 1 10000.000 10000.000
S 57 27 26 W 81.230
Point # 2 9956.304 9931.524
N 32 32 34 W 17.000
Point # 3 9970.635 9922.379
N 57 27 26 E 69.370
Point # 4 10007.951 9980.857
N 34 0 56 E 50.000
Radius Point #5 10049.395 10008.828
Delta=21 18 23 Length = 18.593 Tangent = 9.405
S 12 42 33 w 50.000
Point # 6 10000.620 9997.828
S 12 42 32 W 20.000
Radius Point # 7 9981.110 9993.428
Delta=6 28 25 Length = 2.260 Tangent = 1.131
N 19 10 57 E 20.000
Point # 8 10000.000 10000.000

AREA = 1,266.81 sf (.0291 acres)

LENGTH = 167.60

NORTHING ERROR = +0.000

LINEAR ERROR=S 57 52 7 W 0.000

EASTING ERROR = +0.000

FEB 0 5 2021



111035 LOT 15

Point #1 10000.000 10000.000
S 57 27 26 W 65.370

Point # 2 9964.836 9944.894
N 32 32 34 W 17.000

Point # 3 9979.166 9935.749
N 57 27 26 E 61.330

Point# 4 10012.158 9987.450
N 54 8 34 E 50.000

Radius Point # 5 10041.446 10027.973
Delta=20 7 38 Length = 17.564 Tangent = 8.874

S 34 0 5 W 50.000

Point#6 10000.002 10000.003

AREA = 1,068.00 sf (.0245 acres)

LENGTH = 143.70

NORTHING ERROR = +0.002

LINEAR ERROR=N 56 58 46 E 0.003

EASTING ERROR = +0.003

FEB 0 5 70zt



111035 LOT 16

Point# 1 10000.000 10000.000
S 57 27 26 W 65.330
Point # 2 9964.857 9944.927
N 32 32 34 W 17.000
Point # 3 9979.188 9935.783
N 57 27 26 E 67.270
Point # 4 10015.374 9992.491
N 73 50 52 E 50.000
Radius Point # 5 10029.284 10040.517

54

8

Delta=19 42 18
34 W

50.000

Length = 17.196

Tangent = 8.684

Point# 6

9999.996

9999.993

AREA =1,118.60 sf (.0257 acres)

LENGTH = 149.60

NORTHING ERROR = -0.004
LINEAR ERROR =S 57 47 22 W 0.008

EASTING ERROR = -0.007

FEB 0 5 2021



111035 TRACT CA-1

Point# 1 10000.000 10000.000
N 55 9 48 E 13.130
Point# 2 10007.500 10010.777
S 35 59 16 E 9.000
Radius Point # 3 10000.218 10016.065
Delta=52 43 40 Length = 8.282 Tangent = 4.461
N 16 44 24 E 9.000
Point # 4 10008.837 10018.658
S i6 44 24 W 9.000
Radius Point # 5 10000.218 10016.065
Delta=69 38 49 Length = 10.940 Tangent = 6.261
N 86 23 13 E 9.000
Point# 6 10000.785 10025.048
N 86 23 13 E 50.000
Radius Point # 7 10003.936 10074.948
Delta=12 32 21 Length = 10.942 Tangent = 5.493
S 73 50 52 W 50.000
Point # 8 9990.027 10026.922
) 57 27 26 W 67.270
Point #9 9953.840 9970.214
S 32 32 34 E 17.000
Point # 10 9939.509 9979.359
N 57 27 26 E 4.000
Point # 11 9941.661 9982.731
S 32 32 34 E 17.000
Point # 12 9927.330 9991.875
S 57 27 26 W 4.000
Point # 13 9925.178 9988.503
S 32 32 34 E 17.000
Point # 14 9910.848 9997.648
N 57 27 26 E 4.000
Point # 15 9912.999 10001.020

Fep 05
FEB ¢ e 2027



S 32 32 34 E 17.000

Point # 16 9898.669 10010.165
S 57 27 26 W 4.000

Point # 17 9896.517 10006.793
S 32 32 34 E 17.000

Point # 18 9882.186 10015.938
N 57 27 26 E 4.000

Point # 19 0884.338 10019.310
S 32 32 34 E 17.000

Point # 20 9870.007 10028.455
N 57 27 26 E 68.350

Point # 21 9906.774 10086.073
S 83 25 50 W 44,000
Radius Point # 22 9901.740

Delta=81 56 2 Length = 62.921 Tangent = 38.204

S 14 38 8 E 44,000

Point# 23 9859.168 10053.479
S 14 38 8 E 711.000
Radius Point # 24 9171.238

Delta=16 47 37

Length = 208.397

Tangent = 104.951

N 31 25 45 W 711.000

Point # 25 9777.924 9862.381
N 31 25 45 W 44.000
Radius Point # 26 9815.469

Delta=34 1 54 Length = 26.134 Tangent = 13.465

S 2 36 9 W 44.000

Point # 27 9771.514 9837.439
N 2 36 8 E 44.000
Radius Point # 28 9815.469

Delta=75 32 15

Length = 58.009

Tangent = 34.091

S 78 8 23 W 44.000

Point # 29 9806.426 9796.376
N 11 51 37 W 68.100

Point # 30 9873.072 9782.380
N 78 8 23 E 49.000
Radius Point # 31 9883.143



Delta=72 45 12

Length = 62.219

Tangent = 36.095

29 6 25 W 49.000

Point # 32 9925.955 9806.498
35 42 15 E 40.230

Point # 33 9893.286 9829.977
23 30 38 W 44.000

Point # 34 9852.939 9812.424
66 29 22 E 15.780

Point # 35 9846.644 9826.894
23 30 38 W 22.670

Point # 36 9825.856 0817.851
66 29 22 E 15.900

Point # 37 9819.513 9832.431
23 30 38 W 18.000

Point # 38 9803.007 9825.250
66 29 22 E 15.780

Point # 39 9796.712 9839.721
23 30 38 E 44.000

Point # 40 9837.060 9857.273
15 18 31 E 15.540

Point# 41 9852.048 9861.376
23 18 55 E 44.000

Point # 42 9811.641 9878.791
66 41 5 E 15.780

Point # 43 9817.887 9893.282
23 18 55 W 2.500

Point # 44 9820.183 9892.292
66 41 5 E 15.900

Point # 45 9826.476 9906.894
23 18 55 E 1.250

Point # 46 9825.328 9907.389
66 41 5 E 15.780



Point # 47 9831.573 9921.880
63 20 16 11.150

Point # 48 9836.577 9931.845
67 40 46 15.780

Point # 49 9842.570 9946.442
22 19 14 2.000

Point # 50 9844.420 9945.683
67 40 46 15.780

Point # 51 9850.413 9960.280
68 46 7 18.980

Point # 52 9857.286 9977.972
57 27 25 15.780

Point # 53 9865.775 9991.274
32 32 35 2.000

Point # 54 9864.089 9992.350
57 27 25 15.780

Point # 55 9872.577 10005.653
32 32 35 44.000

Point # 56 9909.669 9981.984
57 27 25 15.780

Point # 57 9901.180 9968.681
32 32 35 2.000

Point # 58 9902.866 9967.605
57 27 25 15.780

Point # 59 9894.378 9954.303
32 32 35 44.000

Point # 60 9857.286 9977.972
68 46 7 18.980

Point# 61 9850.413 9960.280
22 19 14 44.000

Point # 62 9891.116 9943.570



67 40 46 15.780

Point # 63 9885.123 9928.972
22 19 14 2.000

Point # 64 9883.273 9929.732
67 40 46 15.780

Point # 65 9877.280 9915.134
22 19 14 44.000

Point # 66 9836.577 9931.845
63 20 16 11.150

Point # 67 9831.573 9921.880
23 18 55 44.000

Point # 68 9871.980 9904.465
66 41 5 15.780

Point # 69 9865.735 9889.974
23 18 55 1.250

Point # 70 9866.883 9889.479
66 41 5 15.900

Point# 71 9860.590 9874.878
23 18 55 2.500

Point # 72 9858.294 9875.867
66 41 5 15.780

Point # 73 9852.048 9861.376
15 18 31 15.540

Point # 74 9837.060 9857.273
66 29 22 15.780

Point # 75 9843.355 9842.803
23 30 38 18.000

Point # 76 9859.860 9849.983
66 29 22 15.900

Point # 77 9866.203 9835.403
23 30 38 22.670




Point # 78 9886.991 9844.447
N 66 29 22 W 15.780
Point # 79 9893.286 9829.977
N 35 42 15 wW 40.230
Point # 80 9925.955 9806.498
N 60 53 35 E 16.630
Point # 81 9934.044 9821.028
S 29 6 25 E 149.000
Radius Point # 82 9803.861 5893.508

Delta=17 27 44

Length = 45.411

Tangent = 22.883

N 11 38 41 wW 149.000
Point # 83 9949.794 9863.434
N 78 21 20 E 19.300
Point # 84 9953.690 9882.336
N 11 38 40 W 201.000
Radius Point # 85 10150.553 9841.767
Delta=8 45 14 Length = 30.710 Tangent = 15.385
S 20 23 54 E 201.000
Point # 86 9962.157 9911.824
N 69 36 6 E 58.430
Point # 87 9982.522 9966.590
N 20 23 54 W 150.000
Radius Point # 88 10123.116 9914.309

S 34

Delta =14 26 18
50 12 E

Length = 37.799
150.000

Tangent = 19.000

Point # 89

9999.999

9999.995

AREA = 28,502.13 sf (.6543 acres)

LENGTH = 1369.93

NORTHING ERROR = -0.001

LINEAR ERROR =S 76 45 15 W 0.006

EASTING ERROR = -0.005



